Segway® Modular
Parking Stand

Assembly and Usage Instructions

22309-00001i2 « 22309-00002 x2 (Version 1)
22309-00003 i2 SE « 22309-00004 x2 SE (Version 2)

Béquille de stationnement modulaire Segway®  Cavalletto modulare
Segway® « Segway® Parkstandermodul « Caballete modular Segway®
* Segway® EVa SR/ \—F T XZ R « Segway® HEREE X 42

SEGWRARY



Table des matieres « Sommario ¢ Inhaltsverzeichnis «
Contenidos « Bt « B &




Safety

/\ WARNING

« Readallinstructions in these user materials. Failure to adhere to these warnings
could lead to serious injury or death or damage to property.

«  Always shut down your Segway PT and unplug the AC Power Cord before
performing any maintenance or installing any part or accessory.

« Use only Segway-approved parts, fasteners, and accessories.

Failure to follow the warnings below could lead to serious injury to yourself
and/or others or death and could damage your Segway PT.

» Do not stand or lean on the Segway PT when the Parking Stand is deployed.
Standing or leaning on the Parking Stand could cause the Parking Stand to
break.

« Do not attempt to put the Segway PT into balance mode while the Parking
Stand is deployed or partially deployed.

« Do not attempt to deploy Parking Stand while the Segway PT is in balance
mode.

»  Before riding your Segway PT make sure that the Parking Stand is fully
retracted and in the home position.

*  Remove the Parking Stand if broken and reinstall the original fasteners
removed from the Front Console Trim. Do not ride the Segway PT if the
parking stand is broken.

«  The Segway i2 Parking Stand should only be used on i2 models and the
Segway x2 Parking Stand should only be used on x2 models.

«  Keep hands and other extremities away from the Parking Stand when it is
deployed, being deployed, or being retracted. Hands and other extremities
could be pinched by the moving parts of the Parking Stand.



Segway Modular Parking Stand

22309-00001i2 « 22309-00002 x2 (Version 1)
22309-00003 i2 SE « 22309-00004 x2 SE (Version 2)

REQUIRED: 4 mm hex wrench (included)
5 mm hex wrench (included)

INCLUDED WITHKIT: (1) Parking Stand
(2) Fasteners: M5 x 14 (Version 1)
M5 x 20 (Version 2)
(1) Replacement Leg
(1) Replacement Fastener (M6 x 14)

Black Pivot Ring (i2)
Silver Pivot Ring (x2)

<«— Base

<«— Fuse

Leg
22651-00005 (i2)

22651-00006 (x2) U
<— foot

Parking Stand Components

\ /

The Segway Modular Parking Stand is designed to break in certain circumstances.
To maximize the life of your Parking Stand please follow these guidelines:

/N« Make sure your Parking Stand is not deployed or partially retracted
before riding your Segway PT.

/N« Do not exceed the cargo weight limits as defined in the User Manual.
»  Whenever possible, select a level surface to park your PT.

»  If you must park on a sloped surface, deploy the parking stand with
the wheels perpendicular to the slope.

4



INSTALLATION INSTRUCTIONS FOR ALL SEGWAY® i2 AND x2 MODELS

/N 1. Make sure the Segway PT is unplugged and powered off.

2. Remove the fasteners from the Front Console Trim using a 4 mm hex
wrench. See Figure 1.
NOTE: Save these fasteners in case you remove the Parking Stand. You
MUST use these fasteners when not using the Parking Stand.

Save these fasteners Front Console Trim
. ~ C
(20554-00001; M5x 0.8x10) ¥
|
I

- — —=p

Figure 1. Remove Fasteners

3. Place the Parking Stand over the Front Console Trim so the holes align.
See Figure 2.

4. Attach the two fasteners provided with the kit through the Parking
Stand and Front Console Trim. See Figure 2. Torque fasteners to 1.5
N-m (13 in-Ibf).

NOTE: You MUST NOT use these fasteners if the Parking Stand is not
installed. Doing so could damage your PT.

DO NOT use these
fasteners if the Parking
Stand is not installed.

Figure 2. Attaching the Parking Stand
5



DEPLOYING AND RETRACTING THE PARKING STAND

A\ 1. Make sure the Segway PT is unplugged and powered off.

2. Todeploy the Parking Stand, stand in front of the PT, lean the PT back
and pivot the leg downward using your foot. Ensure that you feel the
pivot click into place in the vertical position. See Figure 3.

Lean the PT forward to rest on the foot.

4. Toretract the Parking Stand, stand in front of the PT, lean the PT back
and pivot the leg upward left or right, using your foot. Ensure that you
feel the pivot click into place at the home position to the left or right.
See Figure 3.

/\ WARNING

Keep hands and other extremities away from the Parking Stand when it is deployed,
being deployed or being retracted. Hands and other extremities could be pinched
by the moving parts of the Parking Stand.

/N CAUTION

The Parking Stand is designed to support the Segway PT. Using the Parking Stand
when the Segway PT is carrying cargo could reduce the stability of the Parking
Stand, causing the Segway PT to tip over.

Home Position — —— Home Position

Vertical

Figure 3. Deploying or Retracting the Parking Stand



QUESTIONS?

N1

5.

REPLACING A LEG THAT HAS BROKEN

Make sure the Segway PT is unplugged and
powered off.

Lean the PT back so you have access to the threaded
insert on the Parking Stand base.

Using the provided 5 mm hex wrench, remove the
fastener and any remnants of the Parking Stand leg
and discard.

Align the replacement leg with the base using the
aligning pins. See Figure 4.

Figure 4.

Thread the new fastener provided (M6 x 14) through
the top of the leg and into the base using a 5 mm hex

wrench as shown in Figure 4. Torque fastener to
6.0 N-m (53 in-Ibf).

If you are missing a part or have any questions, please contact your local

Segway Authorized Dealer. To locate the dealer nearest you, go to www.segway.
com. Updates to this document are also available at www.segway.com.

LIMITED WARRANTY/GUARANTEE
The Segway PT Parking Stand is an accessory covered by the Segway® Personal
Transporter Limited Warranty/Guarantee (copy delivered with the kit).

7



Sécurité

/N AVERTISSEMENT

Lisez toutes les instructions fournies dans ces manuels d'utilisation. Le
manquement a ces avertissements peut entrainer des blessures graves ou
endommager I'équipement.

Arrétez toujours votre TP Segway et débranchez le cordon d'alimentation CA
avant d'effectuer tout entretien ou d'installer une piece ou un accessoire.

Utilisez uniquement des pieces, fixations et accessoires approuvés par Segway.

Le manquement a ces avertissements peut entrainer des blessures graves
sur vous-méme et/ou sur autrui, voire la mort, et peut endommager votre
Segway PT.

Ne montez pas ou ne vous appuyez pas sur le Segway PT lorsque la béquille
de stationnement est déployée. Sl vous montez ou vous appuyez sur la
béquille de stationnement, vous risquez de la casser.

Ne tentez pas de forcer le Segway PT en mode équilibrage (balance mode)
lorsque la béquille de stationnement est partiellement ou complétement
déployée.

Ne tentez pas de forcer le déploiement de la béquille de stationnement
lorsque le Segway PT est en mode équilibrage (balance mode).

Avant d'utiliser votre Segway PT, assurez-vous que la béquille de
stationnement est complétement rétractée et en position de départ.

Enlevez la béquille de stationnement si cette derniére est cassée et installez
de nouveau les fixations d'origine ayant été enlevées de la garniture de la
console avant. N'utilisez pas le Segway PT si la béquille de stationnement est
cassée.

La béquille de stationnement Segway i2 ne doit étre utilisée qu'avec les
modeles i2 et la béquille de stationnement Segway x2 ne doit étre utilisée
qu'avec les modéles x2.

Eloignez les mains et autres extrémités de la béquille de stationnement
lorsque cette derniére est ouverte, en cours d'ouverture ou de fermeture. Les
mains et autres extrémités peuvent se faire pincer par les pieces mobiles de
la béquille de stationnement.



Béquille de stationnement modulaire Segway

22309-00001 2 « 22309-00002 x2 (Version 1)
22309-00003 i2 SE+ 22309-00004 x2 SE (Version 2)

REQUIS: Clé hexagonale 4 mm (incluse)
Clé hexagonale 5 mm (incluse)

INCLUS DANS LEKIT: (1) Béquille de stationnement
(2) Fixations : M5 x 14 (Version 1)
M5 x 20 (Version 2)
(1) Jambe de remplacement
(1) Fixation de remplacement (M6 x 14)

Anneau de rotation noir (i2)
Anneau de rotation argent (x2)

<«—— Base

<«— Borne de

ﬂ coupure

Jambe
22651-00005 (i2)

22651-00006 (x2) U
<«— Pied

Composants de la béquille de stationnement
La béquille de stationnement modulaire Segway est concue pour rompre dans
certaines circonstances. Suivez ces recommandations pour optimiser la durée de
vie de votre béquille de stationnement :
/N« Assurez-vous que votre béquille de stationnement n'est ni déployée
ni partiellement rétractée avant d'utiliser votre Segway PT.
A\ + Nedépassez pas la charge maximale autorisée définie dans le Guide
de l'utilisateur.
*  Quand cela est possible, choisissez une surface plane pour
stationner votre Segway PT.
«  Sivous devez stationner sur une pente, déployez la béquille de
stationnement avec les roues perpendiculaires a la pente.
9

\J




INSTRUCTIONS D'INSTALLATION POUR TOUS LES MODELES SEGWAY® i2 ET x2

AN 1

2.

Assurez-vous que le Segway PT est bien débranché et éteint.

Retirez les fixations de la garniture de la console avant a I'aide d'une
clé hexagonale de 4 mm. Voir lllustration 1.

REMARQUE : mettez ces fixations de coté au cas ol vous enléveriez la
béquille de stationnement. Vous DEVEZ utiliser ces fixations lorsque
vous n'utilisez pas la béquille de stationnement.

Mettez ces fixations de cote\ Garniture dela

(20554-00001; M5 x 0,8 x 10)

L console avant
| |
| |

N

lllustration 1. Retirez les fixations.

Placez la béquille de stationnement sur la garniture de la console
avant de fagon a aligner les trous. Voir lllustration 2.

Passez les deux fixations fournies avec le kit dans la béquille de
stationnement et la garniture de la console avant. Voir lllustration 2.
Serrez les fixations a 1,5 N-m (13 in-Ib).

REMARQUE : vous ne DEVEZ PAS utiliser ces fixations si la béquille de
stationnement n'est pas installée. Ceci risquerait d'endommager votre TP.

N'UTILISEZ PAS ces
fixations si la béquille
de stationnement n'est
pas installée.

lllustration 2. Fixation de la béquille de stationnement

10



POUR DEPLOYER OU RETRACTER LA BEQUILLE DE STATIONNEMENT

M\ 1. Assurez-vous que le Segway PT est bien débranché et éteint.

2. Pour déployer la béquille de stationnement, positionnez-vous devant
le PT, inclinez-le vers I'arriére et faites pivoter la jambe vers le bas
avec votre pied. Assurez-vous de sentir le pivot faire un clic de mise en
place. Voir lllustration 3.

Couchez le PT vers I'avant afin qu'il repose sur le pied.

4. Pour rétracter la béquille de stationnement, positionnez-vous devant
le PT, inclinez-le vers I'arriére et faites pivoter la jambe vers haut a
droite ou a gauche avec votre pied. Assurez-vous de sentir le pivot
faire un clic de mise en place dans la position de base (a droite ou a
gauche). Voir lllustration 3.

/N AVERTISSEMENT

Eloignez les mains et autres extrémités de la béquille de stationnement lorsque
cette derniére est ouverte, en cours de déploiement ou de rétractation. Les mains
et autres extrémités peuvent se faire pincer par les pieces mobiles de la béquille de
stationnement.

/N ATTENTION

La béquille de stationnement est concue pour soutenir le Segway PT. L'utilisation
de la béquille de stationnement lorsque le Segway PT transporte une charge peut
déstabiliser celle-ci et entrainer une chute du Segway PT.

Position de base — — Position de base

Position verticale

lllustration 3. Déploiement ou rétractation de la béquille de stationnement



AN 1.

DES QUESTIONS ?

REMPLACEMENT D'UNE JAMBE CASSEE

Assurez-vous que le Segway PT est bien débranché et
éteint.

Couchez le PT vers I'arriére afin d'avoir acces a l'orifice
fileté situé sur la base de la béquille de stationnement.

Grace a la clé hexagonale de 5 mm fournie, retirez et
jetez la fixation et tout autre élément du pied de la
béquille de stationnement.

Alignez la jambe de remplacement Voir lllustration 4.

lllustration 4.

Enfilez la nouvelle fixation fournie (M6 x 14) a travers

le haut de la jambe et la base en utilisant une clé
hexagonale de 5 mm, comme le montre I' lllustration 4.
Serrez la fixation a 6,0 N-m (53 in-Ibf).

S'il vous manque une piéce ou si vous avez des questions, contactez votre
concessionnaire local agréé Segway. Pour trouver le concessionnaire le plus
prés de chez vous, visitez www.segway.com. Des mises a jour de ce document
sont également disponibles sur www.segway.com.

GARANTIE LIMITEE/GARANTIE
La béquille de stationnement du Segway PT (Segway PT Parking Stand) est un

accessoire couvert par la Segway® Personal Transporter Limited Warranty/
Guarantee (Garantie limitée du transporteur personnel Segway), comprise

dans le kit.

12



Sicurezza

/N AVVERTENZA

Leggere tutte le istruzioni allegate ai componenti. Il mancato rispetto di queste
avvertenze potrebbe causare gravi ferite, la morte o danni materiali.

Spegnere sempre il Segway PT e scollegare il cavo di alimentazione CA prima
di eseguire qualsiasi intervento di manutenzione o l'installazione di qualsiasi
parte o accessorio.

Utilizzare solo ricambi, viti di fissaggio e accessori approvati Segway.

Il mancato rispetto delle avvertenze riportate di seguito potrebbe causare la
morte, gravi lesioni a se stessi o agli altri o danni al Segway PT.

Non salire a bordo né appoggiarsi al Segway PT con il cavalletto abbassato.
Entrambi i movimenti potrebbero danneggiare il cavalletto.

Non tentare di mettere il Segway PT in modalita di bilanciamento mentre il
cavalletto & abbassato o parzialmente abbassato.

Non tentare di abbassare il cavalletto mentre il Segway PT € in modalita di
bilanciamento.

Prima di salire a bordo del Segway PT accertarsi che il cavalletto sia
completamente sollevato e in posizione di riposo.

Rimuovere il cavalletto se spezzato e rimontare le viti di fissaggio originali
tolte dalla mascherina frontale. Non usare il Segway PT se il cavalletto &
danneggiato.

Il cavalletto Segway i2 deve essere utilizzato solo sui modelli i2, mentre il
cavalletto Segway x2 & destinato soltanto ai modelli x2.

Tenere le mani e le altre estremita lontano dal cavalletto quando ¢ abbassato,
si sta abbassando o si sta sollevando, per evitare che rimangano schiacciate
tra le parti in movimento del cavalletto.

13



Cavalletto modulare Segway

22309-00001 2 « 22309-00002 x2 (versione 1)
22309-00003 i2 SE « 22309-00004 x2 SE (versione 2)

NECESSARI:  Chiave a brugola da 4 mm (inclusa)
Chiave a brugola da 5 mm (inclusa)

INCLUSI NEL KIT: (1) cavalletto
(2) viti di fissaggio: M5 x 14 (versione 1)
M5 x 20 (versione 2)
(1) gamba di ricambio
(1) vite di fissaggio di ricambio (M6 x 14)

Punto di snodo nero (i2)
Punto di snodo argento (x2)

<«—— Base

<«— fusibile

Gamba
22651-00005 (i2)

22651-00006 (x2) U
<«— Piede

Componenti del cavalletto

\/

Il cavalletto modulare Segway & progettato per rompersiin determinate
circostanze. Per massimizzare la sua durata attenersi alle seguenti linee guida:
/N« Assicurarsi che il cavalletto non sia abbassato o solo parzialmente
sollevato prima di salire a bordo del Segway PT.
/N« Non superare i limiti di carico definiti nel Manuale dell'utente.
«  Se possibile, parcheggiare il PT in piano.
«  Seénecessario parcheggiare in pendenza, abbassare il cavalletto
tenendo le ruote perpendicolari alla pendenza.

14



ISTRUZIONI DI INSTALLAZIONE PER TUTTI | MODELLI SEGWAY® i2 e x2

AN 1

2.

Assicurarsi che il Segway PT sia scollegato e spento.

Rimuovere le viti di fissaggio dalla mascherina frontale della console
con una chiave a brugola da 4 mm. Vedere Figura 1.

NOTA: tenere da parte queste viti di fissaggio nel caso si rimuova

il cavalletto. Queste viti DEVONO essere usate quando non viene
utilizzato il cavalletto.

Tenere da parte queste\ Mascherina frontale

viti di fissaggio
(20554-00001; M5 x 0,8 x 10)

— — —cD

7 della console
|
I

N

Figura 1. Rimuovere le viti di fissaggio

Posizionare il cavalletto sopra la mascherina frontale della console in
modo da allineare i fori. Vedere Figura 2.

Chiudere le due viti di fissaggio fornite con il kit sul cavalletto e sulla
mascherina frontale della console. Vedere Figura 2. Serrare le viti di
fissaggio a una coppia di 1,5 Nm (13 in-Ibf).

NOTA: NON usare queste viti di fissaggio in assenza del cavalletto.
Diversamente & possibile danneggiare il PT.

NON usare queste viti di
fissaggio in assenza del
cavalletto.

Figura 2. Fissaggio del cavalletto
15



ABBASSAMENTO E SOLLEVAMENTO DEL CAVALLETTO

M\ 1. Assicurarsi che il Segway PT sia scollegato e spento.

2. Perabbassare il cavalletto posizionarsi di fronte al PT, inclinare il
PT all'indietro e far ruotare la gamba verso il basso con il piede.
Controllare che la dopo la rotazione il cavalletto scatti in posizione
verticale. Vedere Figura 3.

Inclinare il PT in avanti per appoggiarlo sul piede.

4. Per sollevare il cavalletto posizionarsi di fronte al PT, inclinare il PT
all'indietro e far ruotare la gamba verso I'alto, a sinistra o a destra, con
il piede. Controllare che il cavalletto scatti nella posizione di riposo a
sinistra o a destra. Vedere Figura 3.

/N AVVERTENZA

Tenere le mani e le altre estremita lontano dal cavalletto quando € abbassato, si sta
abbassando o si sta sollevando, per evitare che rimangano schiacciate trale partiin
movimento del cavalletto.

/N ATTENZIONE

Il cavalletto & progettato per sostenere il Segway PT. Se utilizzato in presenza di
carico a bordo potrebbe diventare instabile e provocare il ribaltamento del Segway
PT.

ﬁ

D
Posizionedi — — Posizione di
riposo 4 R riposo

7/
7 X
/4N IR\
& S

Verticale

I

Figura 3. Abbassamento o sollevamento del cavalletto

16



DOMANDE?

SOSTITUZIONE DI UNA GAMBA SPEZZATA

AN 1.

Assicurarsi che il Segway PT sia scollegato e
spento.

Inclinare il PT all'indietro in modo da avere accesso
all'inserto filettato nella base del cavalletto.

Con la chiave a brugola da 5 mm in dotazione
rimuovere le viti di fissaggio e le parti del cavalletto
e smaltirle.

Allineare la gamba di ricambio con la base utilizzando
i perni di allineamento. Vedere Figura 4.

Figura 4.

Inserire la nuova vite di fissaggio in dotazione

(M6 x 14) attraverso la parte superiore della gamba e
nella base utilizzando una chiave a brugola da5 mm
come illustrato in Figura 4. Serrare la vite a una coppia
di 6,0 Nm (53 in-Ibf).

Se riscontrate la mancanza di una parte o in caso di domande vi invitiamo
a contattare il rivenditore autorizzato Segway. Per individuare il rivenditore
pitl vicino consultate il sito www.segway.com. Gli aggiornamenti di questo
documento sono disponibili anche sul sito www.segway.com.

GARANZIA LIMITATA/GARANZIA

Il cavalletto Segway PT & un accessorio coperto dalla garanzia limitata/garanzia
Segway® Personal Transporter Limited (copia consegnata con il kit).

17



Sicherheit

/N WARNUNG

Lesen Sie sich alle Anweisungen in den vorliegenden Anwenderinformationen
durch. Nichteinhaltung dieser Warnhinweise kann zu schweren Verletzungen,
Tod oder Beschadigungen an Eigentum fiihren.

Schalten Sie Ihren Segway PT stets aus und ziehen Sie das Netzkabel, bevor
Sie Wartungsarbeiten durchfiihren und weitere Teile oder Zubehor montieren.

Verwenden Sie ausschlieBlich von Segway zugelassene Bauteile,
Befestigungselemente und Zubehdérteile.

Nichtbeachtung der folgenden Warnhinweise kann zu schweren Verletzungen
oder Tod fur Sie und/oder Dritte fiihren und lhren Segway PT beschadigen.

Stellen oder stiitzen Sie sich nicht auf den Segway PT, wenn der Parkstander
verwendet wird. Dies kann dazu flihren, dass der Parkstander beschadigt wird.

Versuchen Sie nicht, den Segway PT in den Ausgleichsmodus zu versetzen,
wahrend der Parkstander vollstandig oder teilweise ausgeklappt ist.

Versuchen Sie nicht, den Parkstander zu verwenden, wahrend sich der
Segway PT im Ausgleichsmodus befindet.

Stellen Sie sicher, dass der Parkstéander vollstandig eingeklappt ist und sich in
der Ausgangsposition befindet, bevor Sie den Segway PT verwenden.

Entfernen Sie den Parkstander, wenn er defekt ist, und montieren Sie
wieder die urspriinglichen Befestigungselemente, die von der vorderen
Konsolenabdeckung entfernt wurden. Verwenden Sie den Segway PT nicht,
wenn der Parkstander beschadigt ist.

Der Segway i2-Parkstander darf nur mit dem Modelltyp i2 und der Segway
x2-Parkstander darf nur mit dem Modelltyp x2 verwendet werden.

Halten Sie Ihre Hande und andere GliedmaBen vom Parkstander fern,
wenn dieser in Verwendung ist bzw. aus- oder eingeklappt wird. Hande und
andere GliedmaBen kénnen von den beweglichen Teilen des Parkstanders
eingeklemmt werden.

18



Segway Parkstéandermodul

22309-00001 2 « 22309-00002 x2 (Version 1)
22309-00003 i2 SE+ 22309-00004 x2 SE (Version 2)

BENOTIGTES  4-mm-Innensechskantschlissel (enthalten)
WERKZEUG: 5-mm-Innensechskantschliissel (enthalten)

INHALTE DES SETS: (1) Parkstander
(2) Befestigungselemente: M5 x 14 (Version 1)
M5 x 20 (Version 2)
(1) Ersatzbein

(1) Ersatzbefestigungselemente (M6 x 14)

Schwarzer Drehachsenring (i2)
Silberner Drehachsenring (x2)

<«—— Basis

<«— Verbindung

Bein
22651-00005 (i2)

22651-00006 (x2) U
<«—FfuB

Komponenten des Parksténders

Das Segway Parkstandermodul kann unter bestimmten Umstanden beschadigt
werden. Beachten Sie die folgenden Hinweise, um die Lebensdauer lhres
Parkstanders zu maximieren:
A\ «  Stellen Sie vor der Verwendung lhres Segway PT sicher, dass der
Parkstander nicht oder nur teilweise eingeklappt ist.
/A +  Uberschreiten Sie nicht die im Benutzerhandbuch festgelegte
Beladungsgrenze.
«  Stellen Sie Ihren PT soweit moglich immer auf einer ebenen Flache
ab.
< Wenn das Parken auf unebenem Geléande unumganglich ist,
verwenden Sie den Parkstander mit den Radern im rechten Winkel
zum Gefalle.

Y

19



INSTALLATIONSANLEITUNG FUR ALLE SEGWAY® i2- UND x2-MODELLE

/N 1. Stellen Sie sicher, dass der Segway PT ausgeschaltet und nicht am
Netzstecker angeschlossen ist.

2. Entfernen Sie die Befestigungselemente der vorderen
Konsolenabdeckung mit einem 4-mm-Innensechskantschliissel. Siehe
Abbildung 1.

HINWEIS: Bewahren Sie diese Befestigungselemente auf, wenn Sie
den Parkstander abnehmen. Sie MUSSEN diese Befestigungselemente
verwenden, wenn der Parkstander nicht verwendet wird.

Bewahren Sie diese
Befestigungselemente auf —, Vordere Konsolenabdeckung
(20554-00001; M5 x 0,8 x 10)

—_— — —cD
—_— — —cD

Abbildung 1. Befestigungselemente entfernen

3. Platzieren Sie den Parkstander so auf der vorderen Konsolenabdeckung,
dass die Befestigungslocher deckungsgleich sind. Siehe Abbildung 2.

4. Fuhren Sie die beiden Befestigungselemente (Version 1 oder Version
2) durch den Parkstander und die vordere Konsolenabdeckung. Siehe
Abbildung 2. Befestigungselemente mit 1,5 Nm (13 in-Ibf) anziehen.

HINWEIS: Sie diirfen diese Befestigungselemente NICHT VERWENDEN,
wenn der Parkstander nicht montiert ist. Ansonsten kénnte der PT
beschadigt werden.

Verwenden Sie diese
Befestigungselemente
NICHT, wenn der
Parkstander nicht
montiert ist.

Abbildung 2. Befestigung des Parkstanders
20



AUS- UND EINKLAPPEN DES PARKSTANDERS

A\ 1. Stellen Sie sicher, dass der Segway PT ausgeschaltet und nicht am
Netzstecker angeschlossen ist.

2. Umden Parkstander auszuklappen, stellen Sie sich vor den PT, kippen
Sie den PT nach hinten und klappen Sie das Bein des Parkstanders
mit dem FuB aus. Achten Sie darauf, dass die Drehachse mit einem
Klickgerausch in der vertikalen Position einrastet. Siehe Abbildung 3.

3. Kippen Sie den PT zurtick nach vorne, sodass er auf dem Stander
steht.

4. Um den Parkstander einzuklappen, stellen Sie sich vor den PT, kippen
Sie den PT nach hinten und klappen Sie das Bein des Parkstanders
mit dem FuB ein. Achten Sie darauf, dass die Drehachse mit einem
Klickgerausch in der Ausgangsposition einrastet. Siehe Abbildung 3.

/N WARNUNG

Halten Sie Ihre Hande und andere GliedmaBen vom Parkstéander fern, wenn dieser
in Verwendung ist bzw. aus- oder eingeklappt wird. Hande und andere GliedmaBen
konnen von den beweglichen Teilen des Parkstanders eingeklemmt werden.

/\ ACHTUNG

Der Parkstander ist als Stander fiir den Segway PT konzipiert. Wenn der Segway
PT beladen ist, kann der Parkstander ggf. nur eingeschrankte Stabilitat bieten.
Dies kann dazu fiihren, dass der Segway PT umkippt.

Ausgangsposition— < Ausgangsposition

Vertikal
Abbildung 3. Aus- oder Einklappen des Parkstanders

21



AUSTAUSCH EINES BESCHADIGTEN BEINS

A\ 1. Stellen Sie sicher, dass der Segway PT ausgeschaltet
und nicht am Netzstecker angeschlossen ist.

2. Kippen Sie den PT nach hinten, um Zugang zum
Gewindeeinsatz an der Parkstanderbasis zu erhalten.

AN 3. Verwenden Sie den mitgelieferten 5-mm-
Innensechskantschliissel, um das Befestigungselement
und jegliche Reste des Parkstanderbeins zu entfernen.

4. Richten Sie das Ersatzbein mithilfe der

Ausrichtungszapfen an der Basis aus. Siehe
Abbildung 4.

Abbildung 4.

5. Schrauben Sie das neue Befestigungselement (M6 x
14) gemaB Abbildung 4 unter Verwendung des 5-mm-
Innensechskantschliissels durch die Oberseite des
Beins in die Basis. Befestigungselement mit
6,0 Nm (53 in-Ibf) anziehen.

SIE HABEN WEITERE FRAGEN?

Wenn Sie weitere Fragen haben oder ein Teil des Sets fehlen sollte, wenden
Sie sich an einen autorisierten Segway-Handler in lhrer Region. Besuchen
Sie www.segway.com, um einen Handler in Ihrer Nahe zu finden. Auf
www.segway.com konnen Sie auBerdem aktualisierte Versionen des
vorliegenden Dokuments finden.

EINGESCHRANKTE GEWAHRLEISTUNG/GARANTIE

Der Segway PT Parkstander ist ein Zubehorteil, fir das die eingeschrankte
Gewahrleistung/Garantie (Exemplar im Set enthalten) fiir Segway® Personal
Transporter gilt.

22



Seguridad

/N ADVERTENCIA

Lea todas las instrucciones incluidas en este manual del usuario. Si no sigue
estas advertencias, podrian producirse lesiones graves e incluso la muerte, o
dafios en la propiedad.

Apague siempre el transportador Segway PTy desconecte el cable de corriente
alterna antes de realizar labores de mantenimiento o instalar cualquier pieza
0 accesorio.

Utilice inicamente piezas, fijaciones y accesorios aprobados por Segway.

Si no sigue estas advertencias, podria sufrir lesiones graves, incluso la
muerte, y/u ocasionarselas a terceros o provocar dafios en su transportador
Segway PT.

No se ponga de pie ni se incline en el transpotador Segway PT cuando el
caballete esté desplegado. Si lo hace, el caballete podria romperse.

No trate de colocar el transportador Segway PT en modo de equilibrio
mientras el caballete esta parcial o completamente desplegado.

No trate de desplegar el caballete mientras el transportador Segway PT esté
en modo de equilibrio.

Antes de conducir el transportador Segway PT, aseglrese de que el caballete
esta completamente replegado y en la posicion inicial.

Retire el caballete si esta roto y vuelva a colocar las fijaciones originales que
se quitaron de la consola delantera. No conduzca el transportador Segway PT
si el caballete esta roto.

El caballete Segway i2 solo se puede utilizar en los modelos i2, mientras que
el caballete Segway x2 se ha disefiado exclusivamente para los modelos x2.

Mantenga las manos y el resto de extremidades alejadas del caballete cuando
esté desplegado, mientras se despliega o durante el repliegue. Las piezas
moviles del caballete podrian atrapar las manos o el resto de extremidades.

23



Caballete modular Segway

22309-00001 i2 « 22309-00002 x2 (Versién 1)
22309-00003 i2 SE+ 22309-00004 x2 SE (Version 2)

REQUERIDOS:  Llave Allen de 4 mm (incluida)
Llave Allen de 5 mm (incluida)
INCLUIDOS CON ELKIT: (1) Caballete
(2) Fijaciones: M5 x 14 (Versién 1)
M5 x 20 (Version 2)
(1) Pata de repuesto
(1) Fijacién de repuesto (M6 x 14)

Anillo de pivote negro (i2)
Anillo de pivote gris (x2)

<«—— Base

<«—  fusible

Pata
22651-00005 (i2)

22651-00006 (x2) U
<«— Pie

Componentes del caballete
El caballete modular Segway se ha disefiado de modo que se rompa en
determinadas circunstancias. A fin de maximizar la vida Gtil de su caballete, siga
las siguientes directrices:
/A * Asegurese de que el caballete no esta parcial ni completamente
replegado antes de conducir el transportador Segway PT.
/N *  Nosupere el peso de carga maximo estipulado en el Manual del
usuario.
- Siempre que sea posible, elija una superficie plana para estacionar
el transportador.
»  Sise ve obligado a aparcar en una superficie con pendiente,
despliegue el caballete con las ruedas en perpendicular ala
pendiente.

\/

24



INSTRUCCIONES DE INSTALACION PARA TODOS LOS MODELOS SEGWAY®i2 Y x2

AN 1

Asegurese de que el transportador Segway PT esta desconectado
y de que no recibe alimentacién.

Retire las fijaciones de la proteccién para la consola delantera
utilizando una llave Allen de 4 mm. Consulte la llustracion 1.

NOTA: Guarde estas fijaciones en caso de que retire el caballete. DEBE
emplear estas fijaciones cuando no se encuentre utilizando el caballete.

Guarde estas fijaciones Proteccién parala

(20554-00001; M5 x 0,8 x 10)

—_— — —cD
—_— — —cD

/consola delantera

[e]e)e] 00
O

llustracién 1. Extraccion de las fijaciones

Coloque el caballete sobre la proteccién para la consola delantera de
tal forma que los orificios queden alineados. Consulte la llustracion 2.

Conecte las dos fijaciones suministradas con el kit a través del
caballete y de la consola delantera. Consulte la llustracion 2. Apriete
las fijaciones a 1,5 N-m (13 pulg.-Ibf).

NOTA: NO DEBE utilizar estas fijaciones si el caballete no se encuentra
instalado. Utilizarlas provocaria dafios a su PT.

NO utilice estas
fijaciones si el caballete
no se encuentra
instalado.

llustracion 2. Conexion del caballete

25



DESPLIEGUE Y REPLIEGUE DEL CABALLETE

A\ 1. Aseglrese de que el transportador Segway PT esta desconectado
y de que no recibe alimentacion.

2. Paradesplegar el caballete, coléquese delante del transportador,
inclinelo hacia atras y haga que la pata pivote hacia abajo con el pie.
Aseguirese de que el pivote hace clic al colocarse en posicion vertical.
Consulte la llustracion 3.

3. Incline el transportador hacia delante para apoyarlo en el pie.

4. Parareplegar el caballete, coléquese delante del transportador,
inclinelo hacia atras y haga que la pata pivote hacia arriba en direccién
izquierda o derecha con el pie. Aseglrese de que el pivote hace clic
al colocarse en la posicién inicial en direccion izquierda o derecha.
Consulte la llustracion 3.

/N ADVERTENCIA

Mantenga las manos y el resto de extremidades alejadas del caballete cuando esté
desplegado, mientras se despliega o durante el repliegue. Las piezas mdviles del
caballete podrian atrapar las manos o el resto de extremidades.

/N PRECAUCION

El caballete se ha disefiado como soporte del transportador Segway PT. El uso del
caballete cuando el transportador Segway PT transporta objetos pesados puede
reducir la estabilidad del mismo, provocando que el transportador Segway PT
vuelque.

Posicién inicial — Posicion inicial

Veftiéal
llustracion 3. Despliegue o repliegue del caballete

26



SUSTITUCION DE UNA PATA ROTA

/N 1. Aseglrese de que el transportador Segway PT esta
desconectado y de que no recibe alimentacién.

. 2. Incline el transportador para tener acceso a la insercion
A roscada de la base del caballete.

3. Por medio de la llave Allen de 5 mm suministrada,
extraiga la fijacién y cualquier resto de la pata del
caballete y deséchelos.

4. Alinee la pata de repuesto con la base utilizando los
pasadores de alineacion. Consulte la llustracion 4.

llustracion 4.

5. Enrosque la nueva fijacién suministrada (M6 x 14) a
través de la parte superior de la pata y dentro de la
base mediante una llave Allen de 5 mm, tal y como se
muestra en la llustracién 4. Apriete la fijacién a un par
de 6,0 N-m (53 pulg.-Ibf).

¢PREGUNTAS?

Si le falta alguna pieza o tiene cualquier consulta, pdngase en contacto con su
concesionario autorizado de Segway local. Para localizar el concesionario mas
cercano, visite www.segway.com. También encontrara actualizaciones de este

documento en www.segway.com.

GARANTIA LIMITADA
El caballete del transportador Segway PT es un accesorio cubierto por la

Garantia limitada del transportador personal Segway® (cuya copia se facilita
junto a este kit).

27



T2 FDIEFIA

24
=0

=

INSDEAHRBAZEDIETZ TN THHHLIEEL, INSOESITHE
DEWVGEE EBEIRTYHRICOBAZBNDHIE T,

AT FURABERBT B Fiold/ \— Y OB RmEEIT T BRI,
EFcET A PTOERAY>TCACERI— A MH Sk
WTHEWTLEELY,

T IIANCEOTHEREIN N -V BOHERE NBROHEFERAL
TLIEEW

LFOEEICRDEWEEFERERABLIU/ZEZNLUNDA
fF?ﬂb\%{%%%oimiﬁEt?% HBEWNFETITA PTHIEIETERE
NnHhHIE7,

IN—F 2T A2V RETRALICRET Y U A PTICESTEUFUL
Do) LEWTKIEEW, IN—F 2T RZ UV RICEDEEFIYHL D
BEIN—F T ABZRDHRETZENDHIET,

IN—F 2T A2V REFREFTIEERS \E’JLL‘Fél,MkﬁE‘( Yo A
PTE/INS VA E—RICEELGEWVWTKEY

TIIIAPTHNT VR E— I\ ’ﬂfi*h’(b\%hﬁgfl\ F7
AZY R ETFAERVLTRE

YT A PTICESHIICIE./ \°—ﬂ;>/7“ AZY RHREITHRMINT
PYR—LRIa NcHBTEERTHEELTLIEEN,

IN—F 2T ZZVROBELEBSIEEVERE. 7O Oy —ib
JLDSEUN LTt DBSHEEXBERIMITET, /N —F

VY A2V RHOHIELTWAIEEIE T 7oA PTICESHEWTLEE
LN

YIITARIN—F 2T A2V RIERETIVICDIA T TTA X2
IN—F 2T ZAZVRIE R ETIVICOIMEBLTLEEET W

IN=F T RZV RETALIERET. £/ —F 27 A2V R%ETF
A /RN BEEICIE IN—F T A2V RICEREADIFTEVELSIC
LTLIEE W, IN—=F 2T ZZ2Y RORE/N—Y ICFRBDEENSEE
hdIET,

28



~ W —_— > O ~ » ~ AN
Segway €15/ \—F > XZVR
22309-00001i2 * 22309-00002 x2 (/\—/3>/ 1)
22309-00003 i2 SE « 22309-00004 x2 SE (/N\—2/3>/ 2)

RERY—)b: AmmAALVF ((TR)
S5mmANALVF (HR)

v MIE M IN—FT ZZVR1=A
BHE&E 2 J:M5x14(N\—T3>/ 1)
M5x20 (/\—3> 2)
AL YT 18
RiAESHEE (M6x14)1 =

BUOERYM T (i2)
JIWN—DERY kU (x2)

Lyy
22651-00005 (i2)

22651-00006 (x2) U
<« Tyt

IN—F 2T A2V RDER/N—Y
Segway EVa1TH/\—F 27 A2V RIZ BHEDEHE T TINSKSICEK
HENTVET N—F T 2V RERCBHEV W ETHIKIE LT
DHA RSA NI TLIEEL,
A BT ITAPTICEBHIC IN—F T A2V RRREE 3SR
DHYITTITWEWTEERESRLTLIEEL,
Ao AT Za7IVTRESNREHFOEEHIREBZ AL
SOCLTLIEEWN T I A PT AEE I 25818 TERE
VTR EIBFRERA TLIEELY,
MEICHBELEITNEGESEVMESIZ. B REICHLTE
BIGEDESN—F T RE2VRETALTLIETLY,
29

\J




SEGWAY® i2 5L U x2 2E T /VOEISIF AE

N1 wTITAPTOEBRNATICE>THY. AV MDiEHD
TWEWTEERESELEY,
2. AmmAALYFAEFE->TCTZOVN AV —IU M LDSESD
SEZRUALET . B1ATELEEN,
I INSDOBHEEIF IN—F T X2V RERUNTED -
DITRELTBWVTLIEEW, IS\—F 4 22 REERLE
WEEIF. INSDEBHEEHERITFERLTIIEEL,

INSNEBHEBEZREL

: — 70V k3 Y—)b ML
THEET ?
|
|

(20554-00001; M5x 0.8 x 10)

—_— — —cD

N

LEBSEEZRINT

KN IVi-ta=v o X c@rAn 2 s DAVES IVE N FNWATEE 727
A2V R EFRBELET K2 EZTELEEL,

4, FYMIBOBOHEE 2 & /I\—FF A2 RE7OVN O
V= M) AIKEI)EIE Y, K2 5TCEBL TV BHEE
% 1.5N-m (13 in-lb) D M LT THREDTITE T,

E N=F2T RV EHEIMIFENTOEWNEEIX. NS
BOHEEZFERALGWTZEN, FRATSEPTHIKIET
BENDHVET,

IN—=F2T AZ VK
HEOIFONTL G
WEEIE. INSDE
HEBEEFERLEV
TLIEEL,

2. 1\—F27 X2 FOBRTHF
30



IN=F2T ZBZ >V R DRBEEIEA

N1 ETIIAPTOERNA ZICE>TEY. ALV MIDEA D
TWIEWTEERERRLE T,

2. IN=FT ABVRERBETBHICIE LT VT PTOIEEICIL

B PT2&AICET BZ2EoCLy I Z TaEICRRIEEET,

ERY b AFVENSE <‘:<‘:ZE) CEEUEBICREINILE
MEALET. B3 ZCECE

LI OTA PTH Ty MMCFHY b‘b‘%&5%ﬁ7’ﬂﬂhﬁﬁ$3’o

4. IN—=F2T BV R &I BICE T V1A PTOIEEICIT

SPTEBHIET. BZfEo>TL vy & LAEICREIEEE T,

ERY bDAFYEWNSIBEELICE/ADR— /‘J‘i’:/“:/a\/tz
BN TcC ez LTI B3 ZTBELIEE

ﬂzﬂ:

IN—F2T RBZVRETALIIRET. X feld/\—F>T AZVRETA
T/RINT BIRCIE IN—F T ARV RICFERZEADITEWLESICLTK
EEWN—FT X2V RO N—VICFEEHEENIZENHDHBYE
EP

N\ xE

IN—F 2T ZZVRIEET 4 PT AR Z D5/ ENTVWE T . I
T4 PT CORBRDERFIT/IN—F T A2V REFERITZEIN—F2T

22V ROREEDELGDON. T ITA PTHEGETEIENABYET,

— KL KDY
=

AL KIS —
v

e
3N=F2T XZV FDRE/ &I

31



WELfcL vd DRTHa
N1 wTITAPTAOAVEYMIDGEASTEST.
BRHLA TN > TWBTEEEELET,
2. IN—F2T XZY ROXR—ZDEMDBEAZD T
> VEETERLS BT ITA PTEERAITIBITET,
3. MBOSMMmABLYFEFEOTN—F2T XA
VROLyvIHhSBHEBELER &I NTEY
BROTEETE T,

4. UBELEEVEFOCRMAL YT ER—XD
UEZEOEE T K4 ZTBIEL,

] 4.

5. 4DESICATBOFLWNESHEE (M6x14)
ELwTER=ZGEL.SmmAAL Y FAEFES
TEBHEBE% 6.0 N-m (53in-Ibf) D Lo ThEsHfT
SEXR

BEWVWEDE

BEA BV HEWSGEPEMDHSHHEIE. BEVDHIED Segway 58E
TA—F—FTHBREVEDELEETV.BREVD T —5—5RETBIC
I&. www.segway.com &R BLIEEWN, COXEDFHITOWVTIE
www.segway.com %z SHEERSTEE LY,

PRIE fRELE

YT ITA PTIN—F245 X2 RI&, Segway® Personal Transporter Limited
Warranty/Guarantee (/\—Y 7+ )V b5V AR—2—[RERIE) DX REK
AEMTY,

32



Wt
>

>

I
T

BHFHEEEAP ZARPRNAERE. ZHXEEETRSHER.
ST MRk

%ﬁ%ﬁ?%ﬁﬁﬂ#ﬁm#ﬁ,%%E%W%wwﬂ#ﬁ?ﬁﬁ
B

RUE S Segway INRTRUER M. X EI - FIEC 1.

B TEERMREA BN AT/ S NERTEGE, BH
FET-, Segway PT 1 ATREFE I 4R

LEETEMTRBRIFPRSH, 52008 57 Segway PT L.
Uit 37 5, S 7E Segway PT _EATAE S BEZE Z 4R AR
HEETEAMTRASTSBIFRSH, B2 Segway PTIZE A
.

% Segway PT & FEE#EXE, BIERAEEZLE.

1EB 5 Segway PTHI, WA EEIZEE 2V EFHIFFIEA.

MREEZLERER, HTEFEXLE, AREFLTEMIZEELRT
FEZEE . MREFZZHIER, ENEY Segway PTo

i2 8 QD BESEAT Segway i2 BF F 242, x2 F A QL EEIAL Segway X2
BEXEL,

HEEXEERA. EERARKER, FROFMZEEELLE.
FHE AT S W B IS E L R = E

33



Segway HEREFEZ LR

22309-00001i2 - 22309-00002 x2 (£8 1 kL)
22309-00003 i2 SE » 22309-00004 x2 SE (8 2 k)

FE:  AmmAARF (BE)
S5mmAARFE (FE)

EHHRA: O EEXZE
(2) ZEH: M5x14 (¥ 1h)
M5x20 (82 HR)
(1) F A EehE
(1) &FREEH (M6x14)

R EBKIN(2)
SRESTIKIR(X2)

SRR
22651-00005 (i2)

22651-00006 (x2) LJ
X5

EEXRAH

Segway BENEFXRAREBRA TARSKIR. ATRAREEREFX
RHERFES, BRUTETRE:

AN o FEBYE Segway PT ZHT, NFAKEEIEKRLTRIAHEHS
W EPRZS -

A BEEEAGSBIEAFPFMAERS.
REEFKEEIER PT,

WRABAMEHERE L, BRERSNEZEANERR
FHEEZS.

\/

34



SEGWAY® i2 F1 x2 ZE Ry Z 35 AR

AN 1 ZuAEB{R Segway PT BEEHRL Tk THC B FFEEEE R .
2. FA4mmANARFEEIIZEENZE Y. WE 1
R AEXLZEG, UEBEREEIEMNER. ~MEA
122 28w 7 A L6 R [ 1o
{RTFIX LR E 4 — FIER S

(20554-0000; M5x 0.8x10) ¢ 1§
I
| |

w

N

1 4 #0 5% [E 14

AEFL S SRR R E L. LE 2.

1 RIRBt A R B 5 S RE E AR T R EE Lo

WE 2, HFEZEH, H%EZL5N-m(13in-Ib).

TR MRRREEERR, BOERXLEZE M. FUA
BESHRITENEEZS.

MBRRREFX
R, BOERAREER
4o

35



BRI FIEEE X4

AN 1 SR Segway PT ERIAESL B R TH B MR IRERE.
2. BAEEZIZER, thEPTEIA, BIMPT, FAEIETIZZEH.
WESZRRECENFEEMNE. WE 3.
3. [EPTHIAfFEERZEM L.

WS X280, WAEPTRIAG, FEMEPT, FAEWEZEA,
EZEEAH. HEXRERCEDNBANHANEA.
WE 3.

AN gk

HEEIFERA. EERFSWER, FHOREMIEEESSE. FH0
TR AT BE S 48 SRS B ST R Eb sk

NiEE

SEZIRIITHRER A Segway PT IRt 12, MNRFE Segway PT £ S KRS
BEREEXRE, EEXENREMAESER, NMSE Segway PT Il
#o

Rl — — B

B 3 RARKEIEEZS

36



BRI
N1 Zs{F Segway PT BIEHEL 2L T3 S FF

BRER.
N\ 2. [EEHRFPT, XEFEHEEEEE TR E#HR A
E,%% o
AN

3. EARMRSmmANARTF, BTEEHIEE
SERRBIRTA RS F

4. AEAMEGESRPXRBNETRESENMLE
Lo HE 4,

& 4

5 {EME 4R 5 mm AARFEERENHTE
Bl (M6 x 14), 45 32 22 BE #0 To s [B] € 7 JFE
r. HEZE M, H%E2 6.0 N-m (53 in-Ibf).

BEEE?

MRERK T ENBEE B R, BRABEERXAE Segway 12
NEHEE. AIFLBEMHIINZHEE, BER www.segway.com. AT
1E www.segway.com KB T8I E #o

BRREFIE/IER
Segway PT 124 37 38 ft 442 f4t Segway® Personal Transporter B[R i =}
/R (XHEBEERA) -

37



SEGWRAY

22308-00001 af

Segway®and the Segway ‘flyguy’ logo are registered trademarks of Segway Inc. (“Segway"). Other marks including InfoKey and LeanSteer
are trademarks or common law marks of Segway. Segway reserves all rights in its trademarks. Copyright © 2015 Segway Inc.
All rights reserved.



